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own words as far as practicable]
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answers in their

Group-A

(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :

() What remedy may be availed of by an aggrieved party against the non-performance of
duty by the public officer, if his duty is ministerial? Identify the correct option.
a) Petition for Certiorari
¢) Petition for Mandamus

(ii) Select the correct option: Writ can be enforced u

b) Petition for Review
d) Ordinary Court Action

nder
a) ART 32 b) ART 226
c) All of these d) None

(iii) An officer sued in his private or personal capacity for acts done beyond the scope of his
authority or for unlawful or tortuous acts while discharging official function cannot
invoke:

a) The Doctrine of State Immunity

b) The Presumption of Regularity
¢) The Doctrine of Primary Jurisdiction

d) The Doctrine of Separation of Powers
(iv) Settled is the rule that jurisdiction to hear and decide cases, which involves the exercise

of adjudicatory power is conferred only by
a) Rules of Court
¢) Constitution Constitution

(v) Rule of Law deals with

b) Implementing Rules and Regulations
d) Administrative Orders

a) Bty Letirai b) Construction by a Supreme Court justice on
quality efare law the constitutional validity of a statute.
d) Construction by an executive officer
exercising quasi-judicial power in an
adversary proceeding

¢) Construction by the Secretary of Justice in

his capacity as the chief legal adviser of the
government.

(vi) The doctrine of separation of powers is a
a) Basic structure
¢) Fundamental duty

(vii) Article 16 deals with

b) Fundamental Right
d) None
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¢ the nature of the

Y
{:: a) b) whether it describe A i
y & 0 Fquality in employment laws power exercised and the right restricted by
3 5 : such power
F oy ¢) Proportionality will be applie d) '
o - d l court is deciding whetheF:pthedrmZ:r;efver ’ whether it prescribes who must do it
‘.‘. i natural justice have been breached
ﬁj (viii) Biogas is a type of fuel which is identified as it
: a) which is a mixture of gases such as b) which is a mixture of I!qwd such as
methane, carbon dioxide

~

-1

methane, carbon dioxide
-t} which is.a mixture of elements such as
methane, carbon dioxide

d) None of these.

(ix) Choose the correct option which atmospheric issues include

a) acid rain
¢) air pollution

b) global warming
d) All of these

(x) The common property of rural communities has increasingly been identified to supply

the needs of the

a) Forests
c) Deserts

b) Urban
d) Water bodies

(xi) A patentis a form that gives its owner to categorize
b) the legal right to exclude others from

a) personal right to exclude others from
making, using, selling and importing an
invention for a limited period of years

c) Constitutional right to exclude others from
making, using, selling and importing an

invention for a limited period of years

making, using, selling and importing an
invention for a limited period of years

d)
Cost@benefit analysis

(xii) Leadership is also analysed as fatherly leadership which is popularly corelated as.

a) Autocratic
¢) Free rein

b) Participative
d) Paternalistic

(xiii) When communication flows between manager and outside groups like suppliers,

creditors, banks, etc. is devised as

a) Grapevine communication
c) Horizontal communication

b) External communication
d) Upward communication

(xiv) A personality measure of the strength of a person's convictions is devised as

a) Locus of control
c) Ego Strength

b) Ego
d) None of these

(xv) The relationship between the leader and his group is identified as same as that of

father and his family in

a) Autocratic

b) Participative
d) Paternalistic

c) Free rein
Group-B
{Short Answer Type Questions) 3x5=15

2. How do you define the work ethos and values that are essential for Indian managers to (3)

succeed in the global business environment?
3. How does Value-Based Management (VBM) align with the work ethos of Indian managers,  (3)

and how can it contribute to their success in a globalized economy?

(3)

4. How do trans-cultural human values contribute to fostering understanding and harmony in

diverse global societies?

(3)

5. What is the technology transfer mechanism, and how did it impact India's industrial and
economic growth during the post-independence period?
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6. How do ethical values differ across cultures and societies, and what challenges 3
these variations in ethical perspectives?

e due tO (3)

‘.',';‘ fi}
2.3 £
iy izations? 3) .9 f?' >
What role do ethical codes play in shaping the behavior of employees and organizations? & . .
How can businesses ensure the effective implementation of these codes? .9_,@" “\.,e _3-,'}, g, o -
\ 1)) 10 ce
: 14_7-‘6 0" A
Group-C 6‘5\0 L O 5 x 6=30 e,
(Long Answer Type Questions) 53‘353 . %
7. How do aesthetic values contribute to cultural expression and creativity? Provide exarngles (5)
of how aesthetic values are integrated into art, architecture, and design to enrich societies.
8. In what ways can Indian managers incorporate traditional values into modern management (5)
practices to adapt to global changes?

9. Compare and contrast the concepts of absolutism and relativism in ethical theories. How

(5)
do these theories influence decision-making processes in different cultural contexts?
10. Explain the teleological approach to ethics. How does it prioritize the consequences of (S)
actions, and what are its implications for ethical decision-making?
11. Discuss the problems and challenges faced by India in the process of technology transfer.
How did these challenges shape the country's policies and strategies for industrial
development?

(5)
12. Discuss the economic impact of technology adoption on businesses and national (5)
economies. How does technology contribute to economic growth and innovation?
OR

skill enhancement programs?

Discuss the challenges faced by human operators in adapting to new technologies in
engineering projects. How can organizations support their workforce through training and

(5)
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